1% ’-ﬁ % Eﬁ o~ % RAE (HETE)
F g = (RA%FERD)
AR
1S T i 3% ESEE1 S
] ] ( |
sgis) Oens Oz O-nas Oswmx Ozom ( )| mE
sgxgr Qo QOswens OQmmrn Qo ( | mm
ERIE
R
EoE
NP 2 mE
5 O= .
O= g
B4
v | =3 A =]
m [ Jew [ Jea [ Jow [ #a [ Jzor waE [ ]mL [ es [ e Jmra
g [ Ex [ se [ Jem [ es [ e[ Jpr/—v me e [em [ Jes  [mes [ Jaes
gt [ |mL [ Jes [ et [ Jen [ Jun xz [ ® [ = iR X(E N33
wrl [ |Ex [ |me = mm ( E# - §6L - EL ) £ mm (% - $6L) - L) IEIER £
INA RV B n R n A n RAmED 1 2 3
Jcs Jcs Jcs ERER 1 2 3
BHELANIL
GCS (E V. M )GCS (E V. M )GCS (E- Vv M ) 2 BB RK 1 2 3
PR |/% |/% /% | g SEAE 1 2 3
WRiE B/ (% RE%) B/ (% R%) B/% (%-F%) | #REER 1 2 3
&
mE / mmHg / mmHg / mmHg TRLFUESE 1 20 3
( 0: ) ) ( 0: ) ) ( 0: 0 ) IRvEEEEE 1 2 3
SpO0:2
% % % IR 2 3
[sinus [Jaf vt [JvF [sinus [Jaf vt v [sinus [Jaf vt [CIve 1 2 3
- [JPeA [ JAsys¢ ) [[JPEA[ JAsys! ) []PEA [JAsys( ) 1 2 3
w #movra QEx Qe o Qs O BB asne  Ow O=
S : A
s Oex Q= 3 702 OO0 22O O= ) b mezn  On Of
Fi
o maws Qmx O 0 Aok O=O= |z Os0O=0=%) rrvne Ox O

fEEH
G (RA-#I%= RRE)

U(EFz)

WE-FRR




	名称未設定

